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[FEEET A XA —Y v —3552018 (FHK30E3 AXK)] STERE
HOCEADOTREDORI (27 H - 28 H)
E B 7 FR R IE
1. BOEAOHBICE T 2 FHIH

(HHH)
H o H E iE
a 7 EARICHR 2 EBEE 0% (1) 5,701 5,701
a2 7 EARICHR B AREEIEE 0% (m) 4 4
HO&EADEH ((4) — (7)) (M) 5,696 5,696
V2277 %y b (3)
FHY R - 7y b OO EHE 32,298 31,898
VR27 Ty NMEOHOAEHH (=) 33,935 33,535
HO&EALE (() /(=) 16.78% 16.98%
[E¥HT 4 27 A=Y v —5652018 (ERL 3049 AHR)] STERE
(EHMD)
B2 iE
HCOEAR R 17.01% 17.21%
HCOCEAEH 5,774 5,774
a 7 EARICHR 5 EEEE 5,778 5,778
a 7 EARICR 5 HRIEE 4 4
VAT ey & 33,938 33,538




[FR{EE€T 4+ X7 0—2 v —552019 (PR 31E3 AKR)] FTEERE
ACEADRFEDRI (27 H - 28 H)
TE B 75 frlN $HIH
1. HOEAOHBICR S 2 $IH

(EH M)
H H EL 1E
a 7 EARICHR 2 EBEEE 0% (1) 5,775 5,775
a2 7 EARICHR B AREEIHE O FE (m) 6 6
HOEADE ((4) — (7)) (M) 5,768 5,768
YRZ Ty M (3)
ERY A2 - 7oy F OBEOLEHHE 32,491 32,091
VR7 T4y bFEOEOEGEEH (=) 34,069 33,669
HO&EARLE () /(=) 16.93% 17.13%
[E¥EAT 4 R/ 0—2 v —552019 (HFTHE 9 BXK)] STERA
(EHD)
HOBEAR 16.58% 16.77%
HO&EARH 5,858 5,858
a 7 ERICHR 5 EEEHE 5,864 5,864
a 7 ERICHR 5 HHEEEHE 5 5
V2RI T ey M 35,325 34,925
[FrEEET 1 2o 0—Yv—3552020 (B 2E3 AFR) ] STERE
HOEARDOTREDRI (27 H - 28 H)
SE B 70 B R 95 IE
1. HCEAOKERICEES % 518
(EH)
TH H i 1E
2 7 EARICHR B EIIEE 0% (1) 5,881 5,881
2 7 EARICHR 2 REEIHE 0% (w) 5 5
HOCEADEH ((4) — (7)) () 5,875 5,875
Y27 TRy M (3)
EHY A2 - 72 b OEOAHE 34,333 33,452
Y227 Ty VEOHDOEHE (=) 35,949 35,068
HOEARRE () / (2) 16.34% 16.75%




[F¥EAT 4 20— v —552020 (5F12&E9 k)| STEAR

(EHM)
E2 1E
HCOEARHE 16.76% 17.19%
HCOEAREH 5,925 5,925
a 7 EARICHR 2 HAEEE 5,930 5,930
a7 EARICHR 2 REIHE 4 4
VR T &y b 35,345 34,464
[(FrEEE€T A R0 —Yv—562021 (B 3E3AXR)] STEAR
HOEARDFFEDORN (25 H)
HOEARDHEICEE 3 2 FIH
(EHMD)
H H Ei 1E
2 7 EARICHR 2 HBEIHE % (1) 5,998 5,998
a 7 EARICHR 5 IREIEE 0 %E (=) 4 4
HOEADEH ((4) — (7)) (M) 5,993 5,993
Y227y M (3)
BV A2 « Ty FDHEOAHHE 33,915 31,962
YR7 Ty MEOHEOAHEE (=) 35,481 33,528
HOEARRE (M) / (2) 16.89% 17.87%
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